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Throughout history, there have been societies that chose to fail.  The Maya, Easter Islanders, and Polynesian peoples, whose economies, government, and to an extent, cultures, ceased to exist, declined because of the decisions they made and the priorities they chose.  But are we, as a country or world society, subject to make [does this mean “subject to making” or “likely to make?”]  those same poor choices? L.P. Hartley once said that “the past is a foreign country; they do things differently there.”  In his book, Collapse, Jared Diamond disagrees with this assertion, stating that collapses are already occurring in Third World countries, and that it is only a question now of when and if similar collapses will cause the downfall of First World nations.  However, though genocide and collapse of authority in those Third World nations can surely affect the rest of the world through globalization, we have technology and knowledge about sustainability that is being employed to prevent the environmental factors that ultimately lead to a collapse, making it unlikely.

Kaitlin, this is a good first paragraph.  But I have a few comments for you think about as you rewrite and finish the paper.  First, I think you need to be careful about saying the societies you mention in the first paragraph “chose to fail.”  I know that idea is brought up in the subtitle of  Collapse.   But it's certainly not the case that they literally intended to fail, which is the way this sounds if you don't explain more fully.   The point is more that they did not understand the consequences of some of the choices they made, or perhaps did not appreciate the seriousness of their situations until it was too late to do anything about it.    How should you make this point?   The best and easiest way would be to say something like “Throughout  history there have been societies that, according to the arguments presented by Jared Diamond in Collapse, effectively chose to fail.”  (If you do this you could eliminate the reference to Diamond later on.)   


The second comment is that I think you may be underestimating the interconnectedness of the world today at the end.  Part of what Diamond is saying is that even though we may have more knowledge, more resources,  and better technology than other societies, the things they can do now (for instance putting millions of additional autos on the road, creating new industries, etc.) can affect the environment for us as well.  If you want to argue along the lines of your last sentence, you will need to take that into account (and I don't think it's going to be easy to justify the flat “unlikely”).    The outline looks fine. 

“Grade:”  8.5/10.

